JWP-208-1 Table and Roller

Product Images

https://jpw-catalog-ga-b2c-5.corevist.cloud/jwp-208-1-table-and-roller



https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208-1-table-and-roller

Description

:I‘S;)Ler Part Number
1 JWP208HH-201
2 6292722

3 BB-62017Z

4 6292724

5 TS-1523041

6 6292725

7 6292726

8 6292727

9 6292728

10 TS-1504041

11 6292730

12 6292731

13 TS-1491031
14 TS-0680041
15 6292808

16 6292809

17 TS-1482021
18 TS-1550041
19 JWP208HH-219
20 TS-1524051

21 TS-1490041

Additional Information

Description

Middle Table

Roller

Ball Bearing

Eccentric Shaft

Set Screw

Lock Bar

Lock Bolt

Lock Bushing (no thread)
Knob

Socket Head Cap Screw
Roller Frame*

Roller*

Hex Cap Screw*
Washer*

Shaft*

Bushing*

Hex Head Screw*

Flat Washer*

Extension Table**
Socket Set Screw**

Hex Cap Screw**

Size

620177

M6x12

M8x20

M10x25

3/8"

M6x12

M6

M8x20

M8x25

Qty

12
12

12

Stock Number

708528-2

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208-1-table-and-roller

714125


https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208-1-table-and-roller

Products in this set

®

Washer | TS-1550041

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208-1-table-and-roller

714125


https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208-1-table-and-roller

